AN
~
—
-

[0}

)
<
wn

Plan
E001165/A

9300B B08 LEG REST

Confirmed

PJ

SD

27/10/2020 | 27/10/2020 | 27/10/2020

Date

niti

E001165 /A




Material
No. Plan Article Quantity

1 ®3.9X9.5 (DIN7981) 1001530 2
2 »16 1001598 )
3 M5 (DIN934) 1001669 1
4 X003573 1004818 1
5 M8x15 1006661 1
6 M6x20 (ISO7380) 1006999 2
7 M8x10 (DIN916/45H) | 1008942 1
8 X003889 1901094 1
9 X003890 1901095 1
10 | M5x40 (ISO7380) 1902842 1
11 @22 1990648 1
12 | XP00574 2990703 (39) 1

XP00499 2990528 (43/46/50/53) 1
13 YP01968 1889800 1
14 Y012159 16722.. 1
15 Y012695 16723.. 1
16 Y012670 16724.. 1
17 YP02062 18924.. 1
18 | Y024036 20796.. (L) .

Y024037 20797.. (R) 1
19 Y024041 20798.. (L) 1

Y024044 20799.. (R) 1

* Quantities is for one piece

* Only left side depicted

E001165 /A

Sheet 2/2
Plan No.
9300B B0O8 LEG REST
E001165/ A
Scale: 1:2 Drafted Verified Confirmed Q V/’/
Date 27/10/2020 | 27/10/2020 | 27/10/2020 \\ ’
Initials TT 3D PJ U%MEBEN




